
My problem is :

When I make a ping on 172.16.1.213 the client answer to the server (it is OK)

But when I plug out the cable on 213 and I do a ping, I have an answer from 212 (it is not OK)

My problem with SCTP is that when the server do a RequestHeartbeat on 172.16.1.213 and the cable is disconnect, I receive a Heartbeat ACK on the server (see on the network the answer may come from 172.16.1.212).

I think that in the client in intern there is a link between Eth0 and Eth1 that do this (with the ping and with Heartbeat !).

When you work with SCTP what kind of network do you have (I don’t have yet a real network to test sctp library). When you have two IP addresses, are they on different network (e.g. 172.16.1.212 and 130.12.4.13)
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